Data : 
Max

100x1 + 120x2 + 150x3 + 125x4
Subject to:         1. x1 + 2x2 + 2x3 + 2x4 
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2. 3x1 + 5x2 + x4
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3. x1 + x3 
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4. x2 + x3 + x4 
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   x1, x2 , x3, x4 
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Optimal Solution:

Objective Function Value = 7475.000

Variable

Value


Reduced Costs
X1


8


0

X2


0


5

X3


17


0

X4


33


0

Constraint

Slack / Surplus

Dual Prices
1


0



75

2


63



0

3


0



25

4


0



-25

Objective Coefficient Ranges

Variable
Lower Limit

Current Value

Upper Limit

X1

87.5


100


none

X2

none


120


125

X3

125


150


162

X4

120


125


150

Right Hand Side Ranges

Constraint
Lower Limit

Current Value

Upper Limit
1

100


108


123.75

2

57


120


none

3

8


25


58

4

41.5


50


54
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